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39- Hegaveus........ honest answer that we couldn’t ask
any other questions.
1) sucha 2) such an 3) so 4)too
40- He............. me that she was sick, but hedidn’t.
1) should have told 2) should tell
3) would havetold 4) had told
41- ........... people can live better than the others.
1) educate 2) educating
3) educated 4) education
42- Hewas .......cc....... hard because he had run fast.
1) jumping  2) crying 3) breathing  4) jerking

43- Hamid isvery carelessdriver. Hisparentsare............
about him.

1) surprised 2) worried

3) excited 4) amused
44- Memory isthe brain’s ability to..... .

1) search large areas of physical illnesses.

2) keep arecord of past events.

3) calculate solve the problems

4) grow up muscles

45-You shouldn’t .............. him because heisn’t an honest
person.

1) save 2) hurt 3) trust 4) report
46- Children must ........... their parents' order.

1) lend 2) last 3) obey 4) hold
47- Your brother will bealoneif you ......... here

1) don’t come

3) haven't come
=comprehension
Read the folliwing passage and choose the best completes
each item.
Places where the winds occur and the time when they blow
depend on many factors, for example, the light from the sun
fallsonthe earth and warm it in some places more than others,
this warmth causes the air to have upward currents and the
air which is not warm has to move in to replaced it. other
factorsfor having wind are the clouds which prevent the sun
from reaching the earth under them, and the sea which is
warmed by the sunlight differently from the land. Winds, as
well as light, heat and sound are capable of doing many
things. Scientists call these different forms of energy.
48- If the light of the sunwarmed the sea and the land
equally theair........

1) wouldn’t move 2) would become clean

3) wouldn’t become dirty 4) would move faster
49- The clouds are amoung the factorswhich.........

1) cause winds 2) destroy heat

3) have light 4) produce air
50- According to the passage, energy can ........

1) do only little work 2) appear in different forms

3) replace the air and sound ~ 4) warm the whole earth

2) didn’t come
4) won't come
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